Potencias de 10 (C)

Calcule los siguientes productos y cocientes.

6,398 x 1000

6,331 x 1000

3,694 x 100

6,52 x 1000

1,203 x 10

6,072+ 1000

5,668 x 1000

8,441 +10

7,033 <1000

7,384 x 1000

8,962 x 10

7,295 =+ 10

8,629 x 10

8,112 = 1000

8,958 x 10

0,505+ 10

5,277 x 10

0,688 x 1000

3,446+ 10

9,507 =1000
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Potencias de 10 (C) Respuestas

Calcule los siguientes productos y cocientes.

6,398 x 1000
6.398

6,331 x 1000
6.331

3,694 x 100
369, 4
6,52 x 1000
6.520
1,203 x 10
12,03
6,072 = 1000
0,006072
5,668 x 1000
5.668
8,441+ 10
0,8441
7,033 = 1000
0,007033

7,384 x 1000
7.384

8,962 x 10
89,62
7,295 =10
0,7295
8,629 x 10
86,29
8,112+ 1000
0,008112
8,958 x 10
89,58
0,505-=10
0,0505

5,277 x 10
52,77

0,688 x 1000
688
3,446 =10
0,3446

9,507 =+ 1000
0,009507
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